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Ui : 80

wdraiRiat & fore amm=r fagw
GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) wieneff geyem 37U Ye-93 W AT AfarRa: g |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) uft v e FAfErE E |
All the questions are compulsory.
(3) T T HI I &l TS I -YfEqht 1 & fod |
Write the answer to each question in the given answer-book only.

(4) 57 Al | 3Tr=ifie @S &, 37 |+l % I s 91y & o |

For questions having more than one part, the answers to those parts are to

be written together in continuity.
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(5) U % Te<l 9 TS TR A fopelt wepR St Ffe /3= / fatiemyma g1 W
Tt 9T <6 %A o1 € W A |

If there is any error/difference/contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated

valid.
(6) LCES] R HEA 3 T A
A 1-10 1
El 11-15 2
g 16-25 3
T 26-30 6
Section Q. Nos. Marks per question
A 1-10 1
B 11-15 2
C 16-25 3
D 26-30 6

(7) I IT-YFETHI < T8I 6 gF1 AR fAfen | Afg g & wrd w1 F, @A
IR <h 3TH I8I T L 3TN 35 [RS! ATSHT § FHIEh 3 T Th HRI”
fora g |
Write on both sides of the pages of your answer-book. If any rough work

is to be done, do it on last pages of the answer-book and cross with slant
lines and write ‘Rough Work’ on them.

(8) I ShHT 26 T SRETHIH U Y9 T SIS |
Draw the graph of Question No. 26 on Graph Paper.
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SECTION - A

1. T ThITeehd qaur gRT 15 1 a7 &I -

() 25 @) 225
@m 125 | 325
Using “Sutra Ekadhikena Purvena” the square of 15 will be
(A) 25 (B) 225
(©) 125 (D) 325

2. HEII35UIMYUR3TH T :

(%) 3 @) 4
M 5 (=)
The Upadhara digit in number 35 is

(A) 3 (B) 4
© 5 (D) 6

3. Ul DI AT AR -

() 2 @) 3
m 4 = 5
The smallest prime number is

(A) 2 (B) 3
©) 4 (D) 5

4. Ccos245°HIHM T :

(F) 2 @) 2
™ 3 @ 1
Value of cos?45° is

(A) 2 (B) 2
© 3 (D) 1
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5. If€5,7,9,xRIATT OB AT x HIAH B :

() 11 @) 15
m 18 ™) 16
If the mean of 5, 7, 9, x is 9, then the value of x is
(A) 11 (B) 15
© 18 (D) 16

6. 2 5sin 45° cos 45° ol HME JAd %Iiz_ﬂQ |
Find the value of 2 sin 45° cos 45°.

7. fog (3, 4) Fly 314 4 gt I T |

Find the distance of the point (3, 4) from y axis.

8. 14 9 s 9Tt 91 1 &A% 1A HIT |

Find the area of the circle of radius 14 cm.

9. T UTH o Whehrl T EH 37 3T shl TRIehdl FTd 1T |

Find the probability of getting an even digit on tossing a dice.

10. Toreft Forgst < =il & wmgre fomg faTfa |

Write the point equidistant from the vertices of the triangle.

Tug -9
SECTION - B
11. 31913 rEvg fafer gy 44 31K 99 1 wgaw gaM™ads (H.C.F.) Fd i |

Find the Highest Common Factor (H.C.F.) of 44 and 99 by Prime factorization
method.

12. Tag3Ti (6, 3) 3R (8, 7) % 7 g{f AT AN |
Find the distance between the points (6, 3) and (8, 7).
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13. EhIv Fs 3 a9erg e w1 afernfya i |

Define a right angled triangle and equilateral triangle.

14. < 7§ 3t & DE || BC (DE @H=R & BC %) AD = 3 @i, DB = 6 ¥ g

AE =481 2 | EC &1 919 3Td hIfSu |
A

B C
In the given figure, DE || BC (DE is parallel to BC) AD =3 cm, DB = 6 cm

and AE = 4 cm. Find the value of EC.
A

B C

15. afe uep o) o1 fortran vom forenidier & forw ¥ 12 2 31 396 e 319 a1 ufd
feratiieX @ foTw =g foptran % 9 &1, 1 15 TeRctifiet st I 6 fofe e fertrn wma
I |

If the fare of a taxi is I 12 for the first kilometre and after that the fare is ¥ 9
for the next each kilometre, then find the total fare for the 15 km journey.

g — 4§
SECTION - C

16. W fafy & 361 1 IS F1a HIT |
Find the square root of 361 by Division Method.

17. Teama aufienton x2 + 4x + 3 = 0 % & F1d SHIFT |

Find the roots of Quadratic Equation x2 + 4x + 3 = 0.
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18.

19.

20.

21.

AT A7) T ANTHA F1d hIfTT
2,4,6,8,....% 10 9al dh

Find the sum of the Arithmetic Progression

2,4,6,8, .... upto 10 terms.

- sin0 — cos*0

sin20 — cos20

P that sin?0 — cos*0 |
rove that: ——.—— 5= 1.
sin%0 — cos20

a5 (6, 8) 3R (2, 4) ! T ATt T@rave o ALy fomg o fHesmmes Jd ik |

Find the co-ordinates of the midpoint of the line segment joining point (6, 8)
and point (2, 4).

&1 7S STR(d § 8 W4}, TS hl T ST, I % e € 3 G hI gl TR | I

e 3ma shifsT |

0
L 3 .
AW/ B
In the given figure, a chord of length 8 cm, is at a distance of 3 cm, from the
centre of the circle. Find the radius of the circle.

(e

)
L 3cm
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22. Torelt o forg @ 90 W iR T8 wwi-Yan i v 24 @t 2 | Afe g9 i e
7 9t & T g & ST T 61 g8t 71 hIfT |

The length of the tangent drawn on a circle from an outside point is 24 cm. If
the radius of the circle 1s 7 cm, find the distance from the center to the outside
point.

23. 10 oft e WErave Witve 3t s 3 : 2 % 3rud | faurfsa $ifse | (et fam
TS

Draw a line segment of length 10 cm and divide it in the ratio of 3 : 2 (Draw
only figure).

24. 38 A % FIST @IS 1 &FARA A1 HINT [eeh =19 6 awTg 10 9 3R B
6 T & |

Find the area of the sector of circle whose arc is 10 cm in length and 6 cm in
radius.

25. 52 Ui I 3T=S! YhR H Hel g a9 i Th T H § AgoSAT Th U Fh1alt T |
TTRrehdT T shifere fob fepTet T u=n
() THTCIETE |
(i) THIHE |

A card is drawn of random from a well shuffled deck of 52 playing cards. Find
the probability that the card drawn is a

(1) Aking

(i) A queen

@l — ¢
SECTION -D
26. T taes arfiertor 3m i STerEt fafy & gat Sife
x+y=15
x—y=1
Solve the following pair of linear equations graphically :

x+y=15
x—y=1

27. T HHR & 3MER ¥ 100 HeX gl W f&q forg @ Rer 1 3=/— 1o 30° 2
HHR T =18 31 HIT |

The elevation angle of the peak is 30° from a point 100 metres away from the
base of a tower, then find the height of the tower.
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28. AABC % Ui gd i &A1 HifVe F&l, AB = 5 &t, BC = 5.8 &t 3R
/A=55°% |

Construct a circumcircle of a AABC, with AB = 5 cm, BC = 5.8 ¢cm and
LA =55°.

29. Ueh R 6l ArTS, TS 3T TS shAs: 5 Hiew, 30 B} 3K 3 X 8 | Sar s
T 20 Tt x 10 Tt x 7.5 Tt A9 <Y foral Sei T 3TTaIv=Har Bt ?

A wall has dimensions 5 m, 30 cm, and 3 m are length, breadth and height

respectively. How many bricks of dimensions 20 cm x 10 cm x 7.5 cm will be
required to make the wall ?

30. 9 SEERAT S ST HHTR | 19 i

el 0-10{10-20| 20-30 | 30—-40 | 40-50

HIHEIAT 9 12 15 10 14

Find the Arithmetic mean of the following frequency distribution :

Class 0-10]10-20| 20-30 | 30—-40 | 40-50
Frequency 9 12 15 10 14
FYa1/OR
= ST SIS o1 Sgeteh AT ShITIT :
Tt 0-10 | 10-20|20—-30| 3040 | 40—-50 | 50-60
HITERAT 5 12 14 10 8 6

Find the mode of the following frequency distribution :
Class 0-10 | 10—20 | 20—-30 | 3040 | 40—-50 | 50 -60
Frequency 5 12 14 10 8 6
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